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QUESTION 1

Click the Exhibit button.

(missing the Exhibit)

Referring to the exhibit, what is a valid storage failover scenario?
A. Node 1 fails and Node 2 takes over Node 1\\'s storage.

B. Node 2 fails and Node 3 takes over Node 2\\'s storage.

C. Node 3 fails and Node 1 takes over Node 3\\'s storage.

D. Node 4 fails and Node 2 takes over Node 4\\'s storage.

Correct Answer: A

QUESTION 2

You want to create an SVM disaster recovery relationship for a production SVM. When you create the destination SVM,
which vserver subtype should you choose?

A. dp-destination
B. sync-destination
C. default

D. sync-source

Correct Answer: B

QUESTION 3

Your company requires storage administrators to use a second authentication method when accessing OnCommand
System Manager and OnCommand Unified Manager. After entering their user name and password, administrators must
enter a Personal Identity Verification (PIV) code from a smart card or a mobile device.

With which resource would you accomplish this objective?

A. an Active Directory server

B. a third-party key manager

C. a third-party identity provider

D. the ONTAP onboard key manager

Correct Answer: D
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QUESTION 4

You create a quality of service (QoS) policy group called untest_apps with a maximum throughput of 300 MBps. You
add one volume to the policy group, and then you add a second volume to the policy group.

In this scenario, which statement is true?

A. The maximum throughput of each volume is 600 MBps.

B. The combined maximum throughput of both volumes is 600 MBps.
C. The maximum throughput of each volume is 150 MBps.

D. The combined maximum throughput of both volumes is 300 MBps.

Correct Answer: B

QUESTION 5

Which three configurations does ONTAP Select support? (Choose four.)
A. 2-node cluster hosting NAS and iSCSI

B. 3-node cluster hosting NAS and iSCSI

C. single-node cluster hosting NAS and iSCSI

D. 4-node cluster hosting NAS and iSCSI

E. 6-node cluster hosting NAS and iSCSI

Correct Answer:. ACDE

QUESTION 6

You want to create a new storage pool of SSDs to provide a performance tier for FlashPool-enabled aggregates on
nodel and node2. You expect that the FabricPool aggregates on nodel will require more of the performance tier than
the aggregates on node2.

Which action satisfies the requirement?

A. Use thestorage pool reassigncommand to reassign storage pool allocation units from node2 to nodel.

B. Use thestorage disk reassigncommand to reassign disk from SSD storage pool from node2 to nodel.

C. Use thestorage pool addcommand to add HDDs to the FabricPool aggregates on nodel.

D. Use thestorage pool modifycommand to change the parity of the RAID groups in the storage pool to RAID-4.

Correct Answer: A
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QUESTION 7

Which three objects are restorable from a FlexVVol Snapshot copy? (Choose three.)
A. FlexVol volume

B. file

C. NFS export

D. LUN

E. gtree

Correct Answer: ABD

QUESTION 8

Click the Exhibit button.

NetApp

cluster0l::> volume mount -vserver departments -volume Iinance -junction-path /depth/fin
cluster0l::> volume unmount -vserver departments -volume finance

cluster(0l::> volume mount -vserver departments -volume Iinance -junction-

path /departments/finance

UNIX
# mkdir /tmp/fin

Assuming that the export policy on the storage allows access, you want to enable client access to thefinancevolume in
thedepartmentsSVM in the /tmp/fin directory.

Referring to the exhibit, which UNIX command must be executed to accomplish this task?
A. mount —t nfs —o nfsvers=3 cluster01:/finance /tmp/fin

B. mount —t nfs —o nfsvers=3 cluster01:/fin /tmp/fin

C. mount -t nfs —o nfsvers=3 cluster01:/dept/fin /tmp/fin

D. mount —t nfs —o nfsvers=3 cluster01:/departments/finance /tmp/fin

Correct Answer: D

QUESTION 9

What are three default settings for SAN volumes when volumes are created with System Manager on AFF solutions?
(Choose three.)
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A. Volume space is reserved from the aggregate.

B. Aggregate inline deduplication is enabled.

C. Volume compression is enabled.

D. Volumes are thin provisioned.

E. Volumes have the default snapshot schedule enabled.

Correct Answer: BCD

QUESTION 10

Where would you look to find the minimum and the maximum number of array LUNs supported by FlexArray?
A. OnecCollect

B. Config Advisor

C. Hardware Universe

D. Interoperability Matrix Tool (IMT)

Correct Answer: C

QUESTION 11

Click the Exhibit button.
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You have a 4-node NetApp SAN cluster configured as shown in the exhibit.

By default, how many LUN paths does the host see for a newly created LUN on Node 01?
A.2

B.1

C.8

D. 4

Correct Answer: D

QUESTION 12

In an aggregate with only thick-provisioned volumes, you need to split a FlexClone volume from its parent volume.
There are other volumes in the aggregate.

In this scenario, how much space must be available within the containing aggregate?
A. You need enough space for twice the size of the parent volume.
B. The split FlexClone volume must be created in a new aggregate.

C. You need enough space for half the size of the parent volume.
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D. You need to double the space in the existing aggregate.

Correct Answer: A

QUESTION 13

When a cluster is created, which two objects are required to provide management access? (Choose two.)
A. data LIFs

B. data SVM

C. management LIFS

D. admin SVM

Correct Answer: CD

QUESTION 14

Which NetApp cluster configuration requires the use of epsilon?
A. a cluster with an odd number of nodes

B. a 4-node cluster

C. a single-node cluster

D. a 2-node cluster

Correct Answer: B

QUESTION 15

Where would a cluster administrator move a FlexVol volume using thevolume movecommand?
A. to aggregates on other nodes in the cluster

B. only to an aggregate on the partner node

C. to any node that does not host a SnapMirror of the same FlexVol

D. to another SVM in the cluster

Correct Answer: A
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